
 

 xt;nthU czTf;FKupa Miur;rpiwf;Nfhzj;ijf; fhz;f. 

 

  

 

NrhW 

,bag;gk; 

gpl;L 

Njhir 

,l;yp 

NrhW 240 

,bag;gk; 120 

gpl;L 200 

Njhir 100 

,l;yp 60 

juk; -10  

 

khfhz fy;tpj;jpizf;fsk; rgufKt – thuhe;j ghlrhiy 

fzpjk; 

 jahupg;G : r.Rghrpdp > 

        Nf/nj`p/ghujp j.tp> vl;bahe;Njhl;il. 

 

mf;Nlhgu; (thuk; - 5) 

 

NrhW    =    
   

   
 X 360°   

       =  120° 

,bag;gk;  = ………………….. 

        = ………………….. 

gpl;L     = ………………….. 

        = ………………….. 

Njhir  = ………………….. 

  =   ………………….. 

,l;yp  = ………………….. 

  =   ………………….. 

 

 

 

 

ghle}ypYs;s midj;J gapw;rpfisAk; nra;f. cq;fs; Mrpupaupd; cjtpiag; 
ngw;Wnfhs;f. 

 ,t;tiuig ckJ gapw;rpf;nfhg;gpapy; gpujpnra;J nfhs;f. 


